
Fi
tti

ng
 in

st
ru

ct
io

ns
M

ak
e:

Hy
un

da
i

Ty
pe

:
56

43

Sa
nt

a 
Fé

; 2
01

2-
>

G
ra

nd
 S

an
ta

 F
é;

 2
01

4-
>



M12x90 (10.9)
110Nm

M12x35 (8.8)
75Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
110Nm

M12x35 (8.8)
75Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
110Nm

M6x20 (10.9)
15Nm

9520095

9555254

5643/3

5643/5

5643/8

5643/8

5643/6

5643/4

564380

5643/7

5643/2

© 564370/27-05-2014/1



FIT
TIN

G IN
STRUCTIO

NS

Hyundai I
X35 2

010-

Part 
no.: 

2S281ADE01

Page 1
of 1

2

2S281ADE01 / 
04-0

3-2
010

DE FR NL GB ES IT SE

DE FR NL GB ES IT SE

Ein
bauanweis

ung A
nhängerv

orri
chtu

ng

In
stru

ctio
ns d

e m
onta

ge l’
atta

che-re
m
orq

ue.

M
onta

gehandle
id
in
g tr

ekhaak

Fitt
in
g in

stru
ctio

ns to
wbar

In
stru

ccio
nes d

e m
onta

je
 e
l g

ancho d
e re

m
olq

ue.

Is
tru

zio
ni p

er i
l m

onta
ggio

 il
 g
ancio

 tr
ain

o.

M
onte

rin
gsanvis

nin
gar d

ra
gkro

ken.

Pokyny k
 m

ontá
ži t

ažnou ty
č.

M
onta

gevejle
dnin

g a
nhæ

ngertr
æ
kket.

Asennusohje
et v

eto
koukku.

θδ
ηγ
ίες

για
αφ
αιρ
ού
µε
νο
κο
τσ
αδ
όρ
ο

Monterin
gsanvisning for ti

lhengerfe
ste

In
stru

cja
 m

onta
u h

ak h
olo

wnic
zy
.

- W
ir w

eise
n ausd

rü
ck

lic
h dara

uf h
in, d

ass
 eine M

onta
ge, d

ie nich
t o

rd
nungsg

em
äß

vo
n einem

 F
ach

insta
lla

te
ur d

urc
hgefü

hrt w
urd

e, z
um

 E
rlö

sc
hen je

glic
hen A

nsp
ru
ch

s

auf S
ch

adeners
atz,

 v
or a

lle
m
 d
er A

nsp
rü
ch

e a
ufg

ru
nd d

es 
Pro

dukte
haftp

flic
htg

e-

se
tze

s, 
fü
hrt.

 

- N
ous i

nsis
tons s

ur le
 fa

it q
ue si

 l’a
ss

em
blage n’a pas é

té effe
ctu

é co
rre

cte
m
ent p

ar

un in
sta

lla
teur p

ro
fe
ss

ionnel, l
e dro

it à
 une quelco

nque co
m
pensa

tio
n en dom

m
ages

inté
rê
ts 

se
ra
 a
nnulé, e

n p
arti

cu
lie

r l
e d

ro
it r

ésu
lta

nt d
e la

 lé
gisl

atio
n e

n m
atiè

re
 d
e

re
sp

onsa
bilit

é d
es p

ro
duits

. 

- W
ij w

ijz
en e

r m
et k

lem
 o
p d

at e
lk 

re
ch

t o
p e

nige s
ch

adeve
rg
oeding, m

et n
am

e

sc
hadeve

rg
oeding d

ie g
ebase

erd
 is

 d
e w

et o
p d

e p
ro
ducta

ansp
ra
ke

lijk
heid, v

erv
alt

indien d
e in

sta
lla

tie
 n
iet c

orre
ct 

is 
uitg

evo
erd

 d
oor e

en co
m
pete

nte
 in

sta
lla

te
ur.

- W
e w

ould e
xp

re
ss

ly 
point o

ut t
hat a

ss
em

bly 
not c

arri
ed o

ut p
ro
perly

 b
y a

 co
m
pe-

te
nt in

sta
lle

r w
ill 
re
su

lt i
n ca

nce
lla

tio
n o

f a
ny r

ight t
o d

am
age co

m
pensa

tio
n, in

 p
ar-

tic
ular t

hose
 a
ris

ing b
y v

irt
ue o

f t
he p

ro
duct 

lia
bilit

y a
ct.

- Q
uere

m
os d

esta
ca

r e
xp

re
sa

m
ente

 que un m
onta

je in
co

rre
cto

 no re
aliz

ado por u
n

insta
lador p

ro
fe
sio

nal im
plic

ará
 la

 ca
nce

lació
n d

e cu
alquier d

ere
ch

o d
e co

m
pensa

-

ció
n p

or d
años, 

en p
arti

cu
lar a

quello
s d

eriv
ados d

e la
 le

gisl
ació

n so
bre

 re
sp

onsa
-

bilid
ad d

e p
ro
ducto

s.

- S
i r
ich

iam
a l’a

tte
nzio

ne su
l fa

tto
 ch

e il 
m
onta

ggio in
acc

ura
to
, a

d o
pera

 d
i u

n in
-

sta
lla

to
re
 n
on c

om
pete

nte
, c

om
porta

 il 
deca

dim
ento

 d
i o

gni d
irit

to
 d
i r
isa

rc
im

ento

per d
anni, i

n p
arti

co
lare

 d
ei d

irit
ti d

i g
ara

nzia
 p
er p

ro
dotto

 d
ife

tto
so

.

- V
i v

ill 
uttr

yc
kli
gen p

åpeka
 a
tt 
m
onte

rin
g so

m
 in

te
 sk

er k
orre

kt 
av e

n ko
m
pente

nt

insta
lla

tö
r l
eder t

ill 
att 

rä
tte

n til
l n

ågon ty
p a

v e
rs
ättn

ing fö
r s

ka
dor, 

sä
rs
kil
t s

ådana

so
m
 u
ppstå

r i
 e
nlig

het m
ed p

ro
dukta

nsv
ars

lagar, f
örlo

ra
r s

in g
ilti
ghet.

- V
ýs

lovn
ěupozo

rňujem
e, že m

ontá
ž, k

te
rá
 nebude řádněpro

ve
dena oprá

vn
ěným

m
onté

re
m
, b

ude z
nam

enat z
ru
še

ní v
ešk

erý
ch

 p
rá
v 
na n

áhra
du š

ko
dy, 

pře
devš

ím

prá
v, 

kte
rá
 vz

nika
jí n

a zá
kla

dězá
ko

na o
 o
dpovědnosti

 za
 vý

ro
bek.

- V
i u

nders
tre

ger -
 i 
fa
ld m

onta
gen ik

ke
 e
r u

dfø
rt 
på ko

rre
kt 

vis
 a
f e

n a
nerk

endt in
-

sta
lla

tø
r -
 at e

th
ve

rt 
gara

ntik
ra
v v

il f
orfa

lde, is
æ
r k

ra
v m

ed hensy
n til

 pro
duktk

va
lite

-

te
n. - H

aluam
m
e n

im
enom

aan k
iin

nittä
ä h

uom
iota

 s
iih

en, e
ttä

 e
päpäte

vä
n a

se
nta

jan

vä
ärin

 s
uorit

ta
m
a a

se
nnus 

johta
a k

aikk
ien v

ahingonko
rv
auso

ike
uks

ien p
eru

untu
-

m
ise

en, v
ars

inkin
 jo

s v
ahingonko

rv
ausv

elvo
llis

uudesta
 va

pautu
m
inen on tu

ote
va

st-

uulain m
uka

inen.

- Θα θέλαµε να
 

ότι σ
ε 

η συναρµολόγηση

δεν γ
ίνε

ι σωστά 

ένα
ν εξ

ειδ
ικε

υµένο
 τεχ

νικ
ό εγκ

αταστάσεω
ν, θ

α κα
-

ταστούν ά
κυρα 

δικα
ιώµατα 

ζηµιών, ε
ιδι-

κότερ
α τα

 δικα
ιώµατα 

τη νο
µοθεσία 

ευθύνης

Vi v
il g

jern
e påpeke

 at m
onte

rin
g so

m
 ik

ke
 er u

tfø
rt 
på rik

tig
 m

åte
 av e

n ko
m
pete

nt

insta
lla

tø
r v

il m
edfø

re
 annulle

rin
g av e

nhve
r r
ett t

il s
ka

dese
rs
ta
tn
ing, is

æ
r m

ed hen-

sy
n til

 re
ttig

hete
ne so

m
 fø

lger a
v p

ro
dukta

nsv
ars

love
n.

- Z
azn

acz
a si

ę, 
e ka

dy p
rz
yp

adek m
onta

u nieprz
epro

wadzo
nego prz

ez w
łaśc

i-

wego in
sta

lato
ra
 sp

owoduje o
debra

nie p
ra
wa d

o o
dsz

ko
dowania, s

zc
ze

gólnie u
d-

zie
lanego za

 sz
ko

dy w
yn

ika
jące

 z 
usta

wy o
 o
dpowiedzia

lnośc
i z

a p
ro
dukt 

(P
ro
duct

Liabilit
y A

ct)
.

- О
брати

те
 при повреждениях, 

возн
икш

их в
 резул

ьта
те

 неправильного монта
жа, и

сте
ка

ют

все
 виды га

ранти
и, в

 частн
ости

, к
аса

ющиеся
 за

ко
на, р

егул
ирую

щего отв
етст

венность
 за

ка
честв

о продукц
ии.

- D
er I

nhalt d
iese

r M
onta

gesä
tze

 und die dazu
gehörig

en M
onta

ganleitu
ngen kö

n-

nen o
hne v

orh
erig

e M
itte

ilu
ng g

eändert 
werd

en. E
s 
ist

 d
ara

uf z
u a

chte
n, d

ass

diese A
nleitu

ngen v
or B

eginn d
er M

onta
ge v

olls
tä
ndig d

urc
hgelesen u

nd v
er-

sta
nden w

erd
en.

- L
e co

nte
nu d

e ce
s k

its
 e
t d

es m
anuels 

d’in
sta

lla
tio

n p
euve

nt f
aire

 l’o
bjet d

e m
o-

dific
atio

ns s
ans a

vis
 p
ré
alable ; 

ve
ille

z à
 lir

e a
tte

ntiv
em

ent l’
inté

gra
lité

 d
e ce

s i
n-

str
ucti

ons e
t à

 le
s c

om
pre

ndre
 a
va

nt d
e p

ro
cé

der à
 l’i
nsta

lla
tio

n. 

- D
e in

houd v
an d

eze
 s
ets 

en d
e b

ijb
ehore

nde in
sta

lla
tie

handleidingen ku
nnen

zo
nder v

oora
fg
aande ke

nnisg
evin

g w
ord

en g
ewijz

igd. Z
org

 e
rv
oor d

at d
eze

 a
an-

wijz
ingen geleze

n en vo
lle
dig begre

pen w
ord

en vo
ord

at a
an de in

sta
lla
tie

 w
ord

t b
e-

gonnen.

-C
ontents 

of th
ese

 ki
ts 

and th
eir f

itti
ng m

anuals 
are

 su
bject 

to alte
ra
tio

n w
ith

out n
o-

tic
e, p

lease
 e
nsu

re
 th

at t
hese

 in
str

ucti
ons 

are
 re

ad a
nd fu

lly
 u
nders

to
od b

efo
re

co
m
m
encin

g in
sta

lla
tio

n.

- E
l c

onte
nido de esto

s k
its

 y 
su

s m
anuales d

e in
sta

lació
n está

 su
jeto

 a m
odific

a-

cio
nes s

in p
re
vio

 a
vis

o; p
or f

avo
r, a

se
gúre

se
 d
e le

er y
 e
nte

nder e
sta

s i
nstr

ucc
io-

nes e
n su

 to
ta
lid

ad a
nte

s d
e in

ici
ar l

a in
sta

lació
n.

- I
l c

onte
nuto

 di q
uesti

 ki
t e

d i r
elativ

i m
anuali d

i in
sta

lla
zio

ne poss
ono ess

ere
 ag-

giorn
ati s

enza
 co

m
unica

zio
ne pre

ve
ntiv

a. L
eggete

 e co
m
pre

ndete
 a fo

ndo le
 pre

-

se
nti i

str
uzio

ni p
rim

a d
i p

ro
ce

dere
 co

n l’i
nsta

lla
zio

ne.

-In
nehålle

t i 
dess

a sa
tse

r o
ch

 til
lhöra

nde m
onte

rin
gsm

anualer ä
r f
öre

m
ål fö

r ä
n-

drin
gar u

ta
n fö

re
gående m

eddelande. S
e til

l a
tt 
instr

ukti
onern

a lä
se

s o
ch

 fö
rs
tå
s

innan in
sta

lla
tio

nen in
leds

-O
bsah té

to
 s
oupra

vy a
 je

jic
h in

sta
lační p

říru
čky p

odléhají 
zm

ěnám
 b
ez u

po-

zo
rn
ění. 

Před z
ahájením

 in
sta

lace
 je

 tře
ba s

i t
yto

 p
oky

ny 
pře

číst
 a
 p
lně

jim
 ro

-

zu
m
ět.

- D
er k

an væ
re
 fo

re
ta
get æ

ndrin
ger a

f in
dhold og ve

dlagte
 bru

gerv
ejle

dning uden

yd
erlig

ere
 a
nnonce

rin
g; k

ontro
lle

r v
enlig

st 
at d

en m
edfø

lgende b
ru
gerv

ejle
dning

er l
æ
st 

og fo
rs
tå
et in

den in
sta

lle
rin

g.

- N
äiden ty

öka
lusa

rjo
jen si

sä
llö

n ja
 a
se

nnuso
hjeiden m

uuto
ks

et o
va

t m
ahdollis

ia

ilm
an eri i

lm
oitu

sta
. P

yy
däm

m
e va

rm
ist

autu
m
aan si

itä
, e

ttä
 näm

ä ohjeet o
n lu

ettu

ja ym
m
ärre

tty
 tä

ys
in e

nnen a
se

nnuks
en a

loitta
m
ist

a.

- Τα 

αυτώ
ν τ

ων σ
υσκευ

ασιών κ
αι τα

 σχετ
ικά

 εγ
χει

ρίδια

συναρµολόγησης 

να 

χω
ρίς 

ει-

Βεβ
αιωθείτ

ε ό
τι έ

χετ
ε δ

ιαβάσει κ
αι κα

τανοείτ
ε 

τις

- I
nnholdet i

 d
ette

 u
sty

re
t o

g i 
de ti

lhøre
nde m

onte
rin

gsin
str

uks
ene ka

n e
ndre

s

ute
n fo

re
gående va

rs
el. S

ørg
 fo

r a
t d

iss
e in

str
uks

ene le
se

s g
ru
ndig og fo

rs
tå
s f

ull-

ste
ndig fø

r d
u b

egyn
ner m

ed in
sta

lla
sjo

nen.

-Z
awarto

śćniniejsz
yc

h ze
sta

wów o
ra
z d

otyc
zące

 ic
h in

str
ukc

je m
oco

wania p
od-

legajązm
ianie bez u

prze
dniego powiadom

ienia. P
rze

d ro
zp

ocz
ęcie

m
 m

onta
u in

-

str
ukc

je te
 n
ale

y u
wa

nie p
rz
ecz

yta
ći d

okładnie zr
ozu

m
ieć.

прочита
йте

 инстр
укц

ию перед те
м, к

ак н
ачать ус

та
новку.

 

CZ DK FI GR NO PL

CZ DK FI GR

NO PL

PRE-IN
STALLATION CAUTIONS/NOTES:

RU

60-90 Minutes

RU

29

© 564370/27-05-2014/24

© 564370/27-05-2014/2

M12x90 (10.9)
95Nm

M12x35 (8.8)
65Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
95Nm

M12x35 (8.8)
65Nm

M10x1,25x35 (8.8)
70Nm

M12x120 (10.9)
95Nm

M6x20 (10.9)
15Nm

M12x35 (8.8)
75Nm

M12x35 (8.8)
75Nm

9520095

9555254

5643/3

5643/5

5643/8

5643/8

5643/6

5643/4

564380

5643/7

5643/2



564
3

(4x) M10x1,25x35 (8.8) 

(2x) M12

(2x) M6

(12x) M12  

(2x) M12x90 (10.9) 

(4x) M12x120 (10.9) 

(4x) M10

(2x) M6x20 (10.9) 

(8x) M12x35 (8.8) 

© 564370/27-05-2014/3

(4x) M12

thule.com   CARLOS
approved compliant

USER MANUAL 
Thule BMA

TÜVTÜV

Montage an lei ing
Fitting instructions
Montageanleitung
Instructions de montage
Monteringsanvisningar
Montagevejledning
Instrucciones de montaje
Istruzioni per il montaggio
Instr ukcja montażu
Asennusohjeet
Pokyny k montáž i
Sz erelési útmutató

оводстводлямонтажа

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RU S

Fitting instructions
Make:

Type:
508 Saloon; 2011->

Peugeot

5414

27 ≥5mm

© 564370/27-05-2014/23

thule.com   CARLOS
approved compliant

USER MANUAL 
Thule BMA

TÜVTÜV

28



Connect

25
© 564370/27-05-2014/22

26

© 564370/27-05-2014/4

tested
euroApproved

Approved

Approved E11 55R-018565

10

171819

RAYMOND

kg

kg?

100 kg

8.8

D-Value :        kN

ECE R55

Couplingsclass: A50-X

12,6

MODIFICATION? 10.9



© 564370/27-05-2014/5

0km
+

1000km

NL.
* Thule is niet aansprakelijk voor de schade die het direct of indirect

gevolg is van onjuiste montage, daaronder begrepen gebruik van niet-
geschikte gereedschappen en het gebruik van andere dan de voorge-
schreven montagewijze en middelen, dan wel onjuiste interpretatie van
dit onderhavig montagevoorschrift.

GB.
NOTE:
* Should this installation process entail the cutting of the bumper –
conformation MUST be obtained by the installation engineer of the
customer’s acceptance prior to completion. Thule Towing Systems
do not accept responsibility for any matters arising as a result of
this miscommunication.

All measurements are in mm!
* Thule is not liable for damage caused directly or indirectly by incorrect

assembly, including the use of unsuitable tools, the use of other assem-
bly methods and means than the ones outlined, and the incorrect inter-
pretation of these assembly instructions. 

D.
HINWEISE:
* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen

zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβ StVZO anbringen.

* Thule haftet nicht für Schäden, die als direkte oder indirekte Folge einer
nicht ordnungsgemäßen Montage auftreten, darunter fallen auch die
Benutzung von ungeeigneten Werkzeugen, andere als die vorgeschrie-
benen Montageverfahren und Montagemittel sowie eine fehlerhafte
Interpretation der betreffenden Montageanweisung.

F,
* Thule décline toute responsabilité pour les dommages qui pourraient

directement ou indirectement résulter d’un montage incorrect, y compris
l’utilisation d’outils inappropriés et l’utilisation d’un mode d’emploi et de
moyens autres que ceux prescrits, ou bien résulter d’une interprétation
inexacte des présentes instructions de montage.

S.
* Thule är inte ansvariga för skada som orsakats direkt eller indirekt av

felaktig montering, inklusive användning av olämpliga verktyg, andra
monteringsmetoder och processer än de som beskrivs, samt felaktig
tolkning av dessa monteringsinstruktioner. 

DK.
* Thule er ikke ansvarlig for skade der direkte eller indirekte er forårsaget

af forkert montage, herunder også iberegnet brug af forkert værktøj og
anvendelse af anden montagemetode og andre montagemidler end de
foreskrevne samt fejltolkning af den medfølgende montagevejledning.

E.
* Thule no se responsabiliza por daños causados, directa o indirectamen-

te, por un montaje incorrecto, incluyendo el uso de herramientas inade-
cuadas, por el uso de métodos de montaje y medios distintos a los indi-
cados y por la interpretación incorrecta de estas instrucciones de mon-
taje. 

I.
* Thule non può essere ritenuta responsabile per eventuali danni diretta-

mente o indirettamente dovuti ad un errato montaggio, intendendo con
ciò anche l'uso di attrezzi non idonei e l'uso di metodi e mezzi di mon-
taggio diversi da quelli prescritti, nonché all'errata interpretazione delle
seguenti istruzioni di montaggio.

PL.
* Firma Thule nie ponosi odpowiedzialności za straty poniesione pośred-

nio lub bezpośrednio na skutek niewłaściwego montażu, w tym użycia

© 564370/27-05-2014/21

23

14

24

3x 2x



21

Grand Santa Fé

Gra
nd

 Sa
nt

a F
é

© 564370/27-05-2014/20

22

Connect

© 564370/27-05-2014/6

1

niewłaściwych narzędzi i sposobów montażu niezgodnych z instrukcją,
oraz niezastosowanie się do treści instrukcji.

SF.
*Thule ei ole vastuussa vioittumisesta, joka on suoraan tai epäsuoraan

aiheutunut väärästä asennuksesta samoin kuin sopimattomien työkalu-
jen käytöstä, muiden kuin ohjeissa mainittujen asennusmenetelmien tai
välineiden käytöstä sekä kyseisten asennusohjeiden väärintulkinnasta.

CZ.
*Společnost Thule neodpovídá za přímé ani nepřímé škody způsobené

nesprávnou montáží, včetně použití nevhodných nástrojů, použití jiných
metod montáže a prostředků než uvedených a nesprávným pocho-
pením těchto pokynů k montáži.

H.
*A Thule nem vállal felelősséget a nem megfelelő szerelésből közvetlen

vagy közvetett módon következő károkért. Ez vonatkozik a nem megf-
elelő szerszámok használatára, a leírtaktól eltérő módszerek és
eszközök alkalmazására, valamint a szerelési útmutató téves értel-
mezésére.

RUS.
*Фирма Thule не отвечает за ущерб, являющийся прямым или косвенным след-

ствием неправильного монтажа, в том числе использования неподходящих
инструментов и применения иного способа монтажа или других средств, чем
предписано в инструкции, либо неправильного истолкования настоящей инструк-
ции по монтажу.

Copy of manufacturers plate

Copy of manufacturers plate

12
Copy of manufacturersplate



© 564370/27-05-2014/7

2 3

1

3

2

4

1

3

24

5

6

19

18 20
© 564370/27-05-2014/19

1710

18 19

1710

18 19

2x M12

2x M12x90
(10.9)

2x M6

2x M6x20
(10.9)



16

2x M12

4x M10

4x M10x1,25x35
(8.8)

2x M12x35
(8.8)

17

4x M12

2x M12

6x M12x35
(8.8)

© 564370/27-05-2014/18

1819 1819 17

© 564370/27-05-2014/8

Disconnect

45



© 564370/27-05-2014/9

6

14

Disconnect

7

3x 2x

4x M12x120(10.9)

14 15

4x M12

© 564370/27-05-2014/17

18 19



Disconnect PDC 

13b
© 564370/27-05-2014/16

9
© 564370/27-05-2014/10

Gra
nd

 S
an

ta
 Fé

8

G
rand Santa Fé



Disconnect PDC 

10a
© 564370/27-05-2014/11

Connect PDC

13a
© 564370/27-05-2014/15



70

65

65

12a
© 564370/27-05-2014/14

Only for Hyundai Santa Fé

70

65

85

12b
Only for Hyundai Grand Santa Fé

Disconnect PDC 

10b
© 564370/27-05-2014/12



120

65

A

A

35mm

A

2x

11a
© 564370/27-05-2014/12

35mm

120 30Cutout

C
utout

A

A

A 2x

11b
© 564370/27-05-2014/13



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20131029121408
       841.8898
       a4
       Blank
       595.2756
          

     Wide
     16
     Single
     -11
     280
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





